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Bond & Molecular Polarity Worksheet

1. Simply looking at the periodic table, where are the elements that are the most electronegative found?  How did you know based on their properties and other periodic trends?

2. Beryllium is a metal and phosphorus is a non-metal.  Knowing this, we would classify a compound between them as ionic.  Is this enough information to make a bond classification?

3. Determine whether the following compounds are polar covalent, non-polar covalent, or ionic.  Show the dipoles on any polar bonds.
a) C-F

b) P-Cl

c) Li-Br

d) B-H

e) Mg-S

f) S-O

g) C-H

h) Cl-Cl

i) C-O

4. How are the bonds between K-Br, C-Br, and Br-Br different?

5. a) Determine the electronegativity difference between C and F and classify the bond.

b) When you place molecules of CF4 in an electric field, the molecules do not display any particular orientation.  Explain why.

6.  An atom, when bonded to nitrogen, results in a polar covalent bond, with nitrogen having a partial positive charge.
a) List all possible atoms that this atom could be.

b) Which of the atoms listed above would result in the most polar bond?

c) Which atoms, when bonded to nitrogen, would result in a non-polar covalent bond?

7. Predict the polarity of each of the following molecules using a VSEPR structure.  Indicate the direction of the dipole if polar.
a) NF3
b) CBr4
c) SF2
d) PO33-
e) NH4+
f) B2H6
g) HOCN

h) PCl5
i) SF6
j) H2S

k) SO2
l) CHF3
8. Use the VSEPR theory to explain why B2F4 is non-polar.

9. Use the VSEPR theory to explain why CH3OH is polar.

10. Explain why PH3 is non-polar while PF3 is polar.

